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11 | W 1t 6C = 920 [£3] 6C = 920
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7 WE=] 1t 3H = 140 [£3] 2S = 110 1
8 TS [£3] 4Sx -2 -300 x 3NT +1 -430 4
9 panyiic] 1t 6C -1 -50 [£3] 6C = 920 14
10 | \WHB 1t 3NT +2 660 1t 3NT +1 630 1
11 | W 1t 6C = 920 1t 5C +1 420 11
12 | Edb [ri] 4S +1 -450 [ri] 4S +1 -450
13 | WH/ 1t 2NT -1 -100 1t 3NT -2 -200 3
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5 it 1t 5D -2 -200 [ri] 5Sx = -650 10
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7 WE=] x 3D = -110 [£3] 3S -1 -100
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10 | \WHB 1t 3NT +3 690 1t 3NT +3 690
11 | W 1t 5C +1 420 [£3] 5D +1 420
12 |t & | 4s | +1 | 450 | 7 | as | +1 | -a50
13 | WH/ 1t 2NT -1 -100 1t 3NT -2 -200 3
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10 | \WHB 1t 3NT +3 690 1t 3NT +3 690
11 | W 1t 3NT +3 490 1t 5C +1 420 2
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13 | WH/ 1t 2NT -1 -100 x 2Dx = -180 2
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